
A7 (mod 2)

blocks defect matrix

2.G : 1 4 9× 3
2 3 7× 3

6.G : 3 4 8× 2
4 = 3∗

5 1 2× 1
6 = 5∗
7 = 6 1 2× 1
8 = 7∗

Block 1: ϕ1 ϕ5 ϕ6

11 = χ1 1 . .
141 = χ5 . 1 .
151 = χ7 1 1 .
211 = χ8 1 . 1
351 = χ9 1 1 1

143 = χ12 . 1 .
144 = χ13 . 1 .
201 = χ14 . . 1
361 = χ16 2 1 1

ϕ1 = 11
ϕ5 = 141
ϕ6 = 201

Block 2: ϕ2 ϕ3 ϕ4

61 = χ2 . . 1
101 = χ3 . 1 1
102 = χ4 1 . 1
142 = χ6 1 1 1

41 = χ10 1 . .
42 = χ11 . 1 .
202 = χ15 1 1 2

ϕ2 = 41
ϕ3 = 42
ϕ4 = 61



Blocks 3, 4: ϕ7 ϕ8

62 = χ17 1 .
152 = χ18 . 1
154 = χ19 . 1
212 = χ20 1 1
214 = χ21 1 1

64 = χ24 1 .
66 = χ25 1 .
362 = χ28 1 2

ϕ7 = 62
ϕ8 = 151

Blocks 5, 6: ϕ9

241 = χ22 1

245 = χ26 1

ϕ9 = 241

Blocks 7, 8: ϕ10

243 = χ23 1

247 = χ27 1

ϕ10 = 243


